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2 19flwed / BIOLOGY
(O wHmL rde euyl / Tamil & English Version )

S1Q Ha@ay : 3.00 wefl Gy | [ Qurgs wHLQuanrsedr : 70
Time Allowed : 3.00 Hours | [Maximum Marks : 70

Sifleyenyaet : (1) devansg eflenssEnd aflurs uHeundl edogr aaugemen slunisgs
Qameterayn. sissliudadldr Ganmuler Amps sargraflOurariiLb
o Lenqgwnsd Gpfedisseyw.
(2) B dagy smuy owvdea oLECL TRsHUsHED
245G ReusNGD UweTLRSS Cauandb. ULMGE waTusHE
Quenéléd LweTUBFHW.
Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately. -
(2)  Usc Bluc or Black ink to write and underline and pencil to draw diagrams.

©P0Y : uGS-1 (eudfi-grayeiiud), ugd-1l (2R -dotdud) selsse ol ssral
e wall&seyLd.

Note:  Candidate should answer Part-1 (Bio-Botany) & Part-1l (Bio-Zoology) in separate answer-
books,

U@ - 1 (2uiif-greureflwed) / PART - I (BIO-BOTANY)
(wCletmase : 35) / (Marks : 35)

9fley - 1/SECTION -1
@floy : () SAwengs darssenesh oL welisau. Bx1=8
(i) Qar@ssiulGarer preng wrpy Gosde Wseyb THenL
oSlem_enwih GaihCleDégIH @M HLar efan_uleamyd Gsi5g) eTpgayLD.

Note : (i) Answer all the questions,

(i)  Choose the most appropriate answer from the given four alternatives and write
the option code and the corresponding answer.

[ &Lys / Tum over
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1. gGsnaflar giiomen el o,

() eunil (e24) LTLIEEH (@) AGrr (m) g2

The unit for measuring ozone thickness i ;

(@)  Watt ) Dobson (€ Kilo (d) Joule
2. Qecrarflulden safl Hipiod &G L SNTATON(GLD.

(=) Broy wrugsser () @OEG wMPFED

(@) gL Qewyd wugndsaT (F) @G LEDESD

Fruit colour in squash is an example of

(a) Complementary genes {b) Recessive epistasis
(c) Inhibitory genes (d) Dominant epistasis

3. wCwrGsriyaldr warps Heefar siaray a&Crr Bl
(=) 10 (<) 2000 (@) 20 () 200
Size of pollen grain in myosotis is micrometer.
@ 10 (b) 2000 (© 20 (d) 200

4. spp : snwr sPisdr Qurgeurss Cargew amssalld sGH wIPPSHES

et LwenuBEpg.

smyewd :  gdaaie aguefldimbs aumb aaslrrasmer Swellurés Quers
Gopaurar 4 hpene HHgE Gaading.

(21) SaDm) UM, SNYEID &

(1) SaDp WODHD SnyewTd F

(@) s=idgl LHHID SnFewnd Houp

(7)) sappy &, &ryesTd Feugy

Assertion (A) : Gamma rays are generally used to induce mutation in wheat varieties.

Reason (R) i Because they carry lower energy to non-ienize electrons from atom.

(a) (A) is wrong, (R) is correct

(b) (A) and (R) are correct

(c) (A) and (R) are wrong

(d) (A) is correct, (R) is wrong
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i ?\ L) - . . . . . . . R . .
eeflaGaidwa ani Qaurgnas adiciidn emmtand GemMindlen. L grsn

(<) 200 700 - (e2y) 300 - 700 nm (@) 500 - 700 nm (#1) 400 - 700 nm
The wavelenpth of photosynthetically active radiation lies hetween the range of :
(M) 200 - 700 nm M 0-700mm  (¢) 500-700 nm  (d) 400 - 700 nm

Ql—l“@{}g\m.

euflens - 1 auflene - 11
(1 srrroel () yer s_uani
) Cangenw (i) yo&r seiefld
})  Beramis (i) bndn
(1) Qorélsr (iv) wer Camoa

(=4} (1)), (2)-(), (3)-(i), (4)-(iii)
() (D-i), @)-v) (3)-(), (4)-(iii)
() ()i (2-), (3)-Giv), (4)-(is)

(F) (D)iv), ()-{ii), (3)-(), (4)-()
Match the following :

Column - 1 Column - II
(1} Cowpea () Pusa Sadabahar
(2) Wheat (i) Pusa Swarmnim
() Chil (i) Himgiri
(4) Brassica (iv) Pusa Komal

(@) (1)-(iv), (2)-(3), (3)-(ii), (4)-(iii)
()  ()-(ii), (2)-iv), (3)-(1), (4)-(ii)
(©) (1)), (2)-G). B)-(iv), (4)-(ii)
d)  (1)-(iv), (2)-(i5). (B)-(1), (4)-(ii)

GaurgaL_eauflen oL

(31) eu sGwofésn (<) GefliewLignen
(@) 9Cpéle () @pHwur

The native of groundnul is :

(a) North America (b)  Philippines
(c) Brazil (d) India

[ Hwiys / Turn over
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8. Harnamdlil adng
() el undie Mwriser
() UL amqa ypg ppadsmpse
(@) 2898 editiGurmEensE sHmL U BIGus
(7)) ursefwredpe Caamautiu@ag
Plasmids are :
(@) tiny bacteﬁa
(b) circular protein molecules
(c) confer resistance to antibiotics

(d) required by bacteria

19ifley - 2/ SECTION -2

@Blny : Epargnid damsaciia aGsgud prang damss@nss oL welssayb. 4x2=8

Note : Answer any four of the following questions.

9. Gudn diugms oy ey dels Sifledlud sidigiseldar Quutsmer ariggs.

Give the names of the scientists who rediscovered Mendelism.

10. praurmsard) FyenwssLLBge e creran ?

What is called phyto remediation ?

11. wyuggl Qurdllvde Csmeu@n Bls wshw Qnrfsafer Quuisamars
GH GBS

Mention the names of the enzymes required for Genetic t‘ngineermg‘

12. &meymGscT eranprd) eranen ?

What are embryoids ?
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13, pod Gri eri@urpgnd Gprrang). sryes LN

Pyramid of energy is always upright. Give reasons.

14, ver aabmg CoBUGEHUED Henagudf - o Qegusdadr araauny LweTUE-
Senpest ?

How are microbial inoculants used to increase the soil fertility ?
sy - 3/ SECTION -3
@iy : Epssrgpn elamssaller oGseb apeim) elanésenée el weaflésad.
el erei 19 -85 s Lmuwns e welissayb. 3x3=9

Note : Answer any three of the following questions. Q. No. 19 is compulsory.

15.  LIUE QUENTLILLD CTEDINGD GTAIA ? iGN LIIGTEET GT(HEIS.

What is genetic mapping ? Write its uses.

16. 2.ep Gefit ungasriy updl eT(pgIs.

Give an account on Cryopreservation.

17.  yefl eumfiLid whmhd Cswed aumflib CaunuBsss.
Distinguish between habitat and niche.

18. srafieaulamer firadliudd ar@ad edauny ega yitddmper ?

How do forests help in maintaining the climate ?

19. @allar syewliderar LLLD epg. UTsn &S Ghésab.

Draw the structure of an ovule and label its parts.

[ #mUiys / Turn over
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9fley - 4/SECTION - 4

GOUY : Jeigg lamasens@d eleoLwellEaeyb. 2x5=10

Note : Answer all the questions.

20. (1) safl@sd Yy eremme ereen ? Seubdiar LwaTUTHF®ET CT(LSIS
V0G|

(<=3,) Sim srafliuriser cremimed erenen ? DiSEient -1 CUENEEET WTeney ? GeudaurandiGLo
THSHEET_(H FMHS.

(a) What is single cell protein ? Mention its applications.
OR

(b) What are Millets ? What are its types ? Give an example for cach type.

21. (1) usiisefls wrug srips urnbulugams T sgsem . HLar Qauals Asramis,
S0
() panelbgmaunsssagneten Ly bloaseamen sﬁ]eurré]i;;scqm,
(a) Bring out the inherilance of chloroplast gene with an example.

OR

(b) Discuss the steps involved in the microsporogenesis.
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Leyen dlan_Gpmd aretug) @ wywé Gepur® DG @5 e @&rnGLon-

Gsmflan cramanilEons amBad sryemnons ghuBdpg ?
(1) 13 (<) 20 (@) 23 () 21

Down's Syndrome is a genetic disorder which is caused by the presenc
chromosome number :

(@ 13 (b) 20 @ 23 (d) 21

e of an extra

QerrevGomgwsflen ypsflatiugn wsCayprGared] pan ALOID o :

(&) Qovruieu (%) @rés Sauiugn
(@) sodya (7) Dy sCarans (HeeT
Exo-erythrocytic schizogony of Plasmodium takes place in :

(a) Stomach (b) RBC

(c) Liver (d) Leucocytes

‘2 Wireu s Carpps Car’ L@’ aenp Qerdeaa epeunslweur

(1) guunfler (Sp) ey andavGa

(@) apraGLen () Qapand) Limeig L6

The term 'Biogenesis’ was coined by :

(a) Oparin (b) ‘Thomas Huxlcy

() Haldane (d) Henry Bastian

1973 ~1b ew® _ wrhleosdd edrear b arfQul Gadlw ylsreid
yelger S id QgrrsluLg).

(=) Slemd, () e-ppranam. (@) Gaperr (F) @RITS

Project Tiger was launched in the Jim Corbett National Park in the State of in
1973.

(a) Assam (b) Uttarakhand (c) Kerala (d) Gujarat

i Cannélen wofiGarey uppré@mpuiame Py :

(4) SCID (<gp,) afComeSelwm
(®) QapiureLiga () erwilav
Adenosine deaminase deficiency causes :

(a) SCID (b) Haemophilia

(¢) Hepatitis (d) AIDS
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Wifley - 2/ SECTION - 2

oy - eGsanb mesE Clemnas@ndie e Gib 6l 1isath 4x2=R

Nole Answer any four of the following questions,

et wruE Qs rads, AL sfen Qeb@ser gCaaitd Qramyeeans FH9Es.

Mention any two goals of the human genome project.

0. @odvoar a@sgsem B UM HYLD.

Define Oligopotency with an example.

1. vally e, Qsddlen Qgefieurar Lk uarhs Lrshismats GHlEsab.

Draw a neat labelled sketch of Human Ovum,

2. Ggrflogionn o osanrd aaé RO IUGeaug WG ? SAFDA eeumny
GOUYLE aryamd ereten ?

Which is referred as Industrial alcohol ? Why is it referred so ?

13, s1bi erenmned eranan 7

What is meant by Sameer ?

4. s@mOemuemni ypm Corew emansEd smaflsmer pgs.

Write the risk factors for cervical cancer,

[ AmiLs / Tum over
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Ofley - 3/SECTION -3

GOy : 9Cs @b apeng oamiaimse dwweasab. denr o 19 -5
sL.Lnuws e wdasab. 3x3=9

Note : Answer any three questions. Q. No. 19 is compulsory.

15. GamuGrreral @sa upl Ay @Hoy ass.

Write a short note on Coprolites.

16. smi-Gals @eveniyg fa g srendldwrns aruds fls - BuruuupEas.

Placenta is an endocrine tissue - Justify.

17. siamews sromsalld Haaans sflasdar sHmEGRMNESG sOHaLwTe
Susgsmer dmaelisdape. Qasflasmd ghude urfuysaag seliés
ereueurmy Siey Grewuml ?

Recently E-waste created dangerous effects in the environment. How will you find solution
to avoid the effects due to these wastes ?

18. r-Gsiay QFg OO K-Ggray Glﬁlfjg, SphlenrissenéHlenL G o_arear Gm@urr@amsrr
Gr@gﬁ

Write the differences between r-selected and K-selected species.

19, PCR-arhg Hapedien apovid RNA pocd Qumsssie e seudlpg ? <ips Hapalanar
uhPiu Gauduliud Geuma H(HSENE T(PES.

By which event PCR help in RNA replication ? Write in bricf about the chernical reaction of
that process.
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Slfley - 4/ SECTION -4

GOlLY : Siwengg cllannéaenssn eflerwealésa)i. Bo=0
Note : Answer all the questions.
20.

(8) e 8flul ubaimss samvular ungsriou GobUPSHUEHE Brb ereeuny
Ursellés (pyguub ?
S|V g
() uflearmos A, apring -eSan@uis eflfullen easmigar wrene ? efleTé@es.
(a) How can we contribute to promote biodiversity conservation ?
OR
(b) Whatare Hﬁ!‘d}’-Wemberg's assumptions on evolution 7 Explain them.

21. (&) Gureng wEBHE@er Sigan cdmarajsatian .Q;q_uumt_uﬁld! usLLRSES.
ALV

() e @fisalidr sramiudn uaCan wasurar gmRiEaarey wennsaner
afleufl&gay.
(a) Classify the drugs on the basis of their effects,
OR
(b) Explain the different kinds of syngamy in living organisms,



